Advanced Algebra
Name:  __________________________

5.6 Operation Worksheet
Date: __________

Write the expression as a complex number in standard form: a + bi

1.  
[image: image1.emf](3+2i)+(-5+8i)
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2. 
[image: image2.emf](-2 —4i)+(3-6i)
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3. 
[image: image3.emf](5-8i)—(2+9i)
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4. 
[image: image4.emf](5—4i)(3+6i)
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5. 
[image: image5.emf](2+5i)°
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6.  
[image: image6.emf](4+8i)(4—8i)
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7. 
[image: image7.emf]2(2+i)+(1-1)
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8. 
[image: image8.emf](1-5i)(2+i)—i(3—4i)









1

-

5

i

( )

2

+

i

( )-

i

3

-

4

i

( )


_1096472327.unknown

_1096472377.unknown

_1096472487.unknown

_1096472522.unknown

_1096472355.unknown

_1096472141.unknown

_1096472251.unknown

_1096472101.unknown

